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2u 201544 20154 1~108 201644 1~108 HLEACYH|
i =2 ETY =g e =z 2o (4
H oz Al 650,951,922 | 1,925,243,956 540,426,229 | 1,590,049,973 502,333,450 | 1,752,400,157 10
= BA| 1,125,300 38,567,504 860,618 29,510,712 1,909,817 54,146,719 | 83
T 0.2 2.0 0.2 1.9 0.4 3.1
U= 1,104,493 37,686,422 846,720 28,990,084 1,239,795 37,626,388 30
e 102 1,276 102 1,276 547,264 13,390,074 | 1,049,279
£8 5,373 311,208 879 44,597 96,495 2,199,686 | 4,832
o= 11,301 452,957 9,339 377,003 7,774 297,365 | —21
HIE 7,259 268,553
cHok 6 4,079 6 4,079 6,773 205,530 | 4,939
Za|o|A|o} 113 4,295 98 3,719 1,211 37,721 | 914
FHLICEH 2,446 55,632 2,290 49,754 885 35,521 | —29
AtE2 535 19,445 418 14,391 853 32,008 | 122
oroflo|2|E 666 23,127 579 20,046 494 17,114 | -15
Ei= 11 418 1 1 195 10,602 | 1,060,100
Soi2[otLzE 172 4,766 142 3,858 307 9,522 | 147
Yol 40 2,084 10 542 184 8,570 | 1,481
o7t 0 19 0 19 161 3,916 | 20,511
o 30 1,144 30 1,144 56 2478 | 117
QI Li[AlO} 12 632 4 199 15 826 | 315
2{Alo} 20 700
ajul 77 145




